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SA: ABIAT A A

Hal: oD R 4T BZ(BIRS/MOEE - 4 )
Pl ARTAE 2YB(METAY) (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Aot S ALY A 1,775,284 1,554,333 220,951
9D HRE Mt BS(HBES/HOT - =) 1,365,749 1,155,344 210,405
AT A 2 (AT AY) 189,155 121,880 67,275
FH.BANE 29 127,377 85,700 41,677
101 @124l 27,177 0 27,177
04 D12t 22 HEE = 27,177 0 27,177
OF+Z 222 er
-Jl2s 44,640 x2F 200 17,856
- FE2g 44,6402 x22 #5022 4,643
PN 44 6403 +2H x 152 1,340
—EEE(xUEER) 23,839,000& *14% 3,338
201 Let249] 100,200 85,700 14,500
01 At 22l 70,200 55,700 14,500
O=ZEXNSAHSII FZZA & I (A
2l 108) 450,000 *11E*204 & 9,900
O=ENSEEINI ALY (PHEFEI 4N 2
98) 100,000& x10& *23| 2,000
OR&H & - nil 800,000& =364 28,800
Ox=&d&Hl &Il &Attl 1,000,000 *2H A 2,000
OdEJ|etA 2teldl 400,000 * 123 «204 & 9,600
OgAgI| ™AL L HIIXMe bl
550,000& =8H 4,400
ODAItA HMAABI(ED, IUE)
100, 000& »2& «2H 400
OgAg) Y82 (WH) 500, 000& *5JH 2,500
ODAMEI, GI=D], LI =4
200,000& 35 600
OF - Fx=AE(01J], 2HEZ) =& (A)
200,000& x25& *23| 10,000
02 23=24gHl 30,000 30,000 0
OF - Fx=ANE(01J, 2HEEZ) RXE*
1,000,000 *305 30,000
A FHESF 2 61,778 36,180 25,598
101 14l 8,036 3,752 4,284
04 JIZtHZ22HEE = 8,036 3,752 4,284
oggdE=d &= MA
44,640 3 x 152 #23| x20H A 8,036
201 L2l 18,742 12,428 6,314
01 At 22l 14,500 8,000 6,500
OFT o 24 AWK 7Y
5,000& 23 2004 2,000
OoLets KXzl 50,000& x50 2,500




AN dot=SAFE A
& 9D WRE ML BI(HIBE/MEHLE - 2 7)
SRl MATAE YV (HLTAY) (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OCCTV =Xl 22l d| 300,000 =304 9,000
o8& 5 ANdE=s 100,000& * 109 2 %13 1,000
02 =224l 4,242 4,428 A 186
O = Hl 4,082
—F - &% 1,685&%1.20 *15A12k+1052 3,185
e 1,867 x204 *4JH 2 +63] 897
Oz&E 2= 80,000 *20H A& 160
401 A& HI R 201 I 20,000 20,000 0
01 A& HI 20,000 20,000 0
OF -8 =2 & AN&=S 22
10,000, 000& *2JH A 20,000
405 THabH S| 15,000 0 15,000
01 AL EZFH S 15,000 0 15,000
O N&EF ZIFL(HED M, TV 6
E) 15,000,000& 15,000
HSS MADIE BE(METAY) 175,362 142,112 33,250
ST =ZZA Y EIt 54,952 54,952 0
201 Let24d] 46,000 46,000 0
01 At 2teltl 46,000 46,000 0
O =Z2AAN =3 21,800
— 22t A 30,0003 250 2= x123] 9,000
— = M 400,000& «8IH 2 *43] 12,800
OZ+ =ZIM === 16,520
— 32t ZAM 350,000& *30 &= x123] 12,600
— = ZM 70,000% * 1404 2 *4 3] 3,920
O=ZZA AERH WE+2>Z(E2EI] 2 73
) 400,000& x8& 3,200
O=ZIA AFEH =2lb(EEI 2 78)
350,000& 83 2,800
Ox=%= =Z2%J Ads ¥4 =&
70,000 x6 X x4 3] 1,680
207 O] 8,952 8,952 0
03 Al & 11l 8,952 8,952 0
Ox=Z&A &I #¢ 2,500 «5000 « 122 1,500
OZHAL AIEIIXH L AlS2(LBEAIZ
Q| 22%F) 27,0003 x23& 12 7,452
FxJls |A ¥ & 120,410 87,160 33,250
206 M= Hl 50,410 32,160 18,250
01 MHZ 4l 50,410 32,160 18,250
O%¥stg s £ 1,200& *20kg*365L 8,760
OXOtE ALULESE 7¢ 4003 *50kg*365 7,300




AN dot=SAFE A
& 9D WRE ML BI(HIBE/MEHLE - 27)
Chel: 928 MAD|E IF (4T AY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS& M (PAHCS) ¢ 3003 *300kg*365< 32,850
O=2% g4d& 72¢ 1,500 *20kg*50 1,500
401 Al HIZ 201 I 70,000 55,000 15,000
01 A& HI 70,000 55,000 15,000
OSTEHX, X B2 =4
4,000, 000& *5J4 2~ *33] 60,000
OSTEHXN, AKX, Bi=X E=
5,000,000& »23l 10,000
ANga+E 2 (AT AY) 617,605 501,244 116,361
otk A EE BE > 88,702 67,082 21,620
101 14 Hl 17,442 16,422 1,020
04 JIZHHZ2XNSE S+ 17,442 16,422 1,020
O4 st4E F=2AE o
750 *1,700& « 128 15,300
O4lf 2= 15,300, 000 *14% 2,142
201 Let24E] 48,460 33,460 15,000
01 At 22l 14,860 12,940 1,920
O&dte=E MEZ IOXAM Y
60,0003 x8 A+ 12& 5,760
OXTI+E 2YMA RO(JAIE S)
200& *1,00000 x5& 1,000
O=%2 SEE210M R 650& +6,000% 3,900
ODXNAM ZeHI EH 7
250,000 14«12 3,000
Od&E POA RXl2el 200,000& »6CH 1,200
02 =224l 33,600 20,520 13,080
O4st+E DN SHSY 242
2,500,000& +x12& 30,000
OXs0lH &3 =2 200,000 »12& 2,400
OX=0ld X2 EDI 0l8R23 100,000& =122 1,200
202 O4dl 9,600 7,200 2,400
01 = LH 4 Hi 9,600 7,200 2,400
Oz&d & XN Y 9,600
- 20,0003 x5 x4 2 «12& 4,800
— ot9 20,0003 «4H x4 2«12 3,840
- N& 20,0003 x1&H ~42 128 960
401 AIEHI L 2CHEI 10,000 10,000 0
01 A& HI 10,000 10,000 0
Oax=E A4 X&tEIL 9 10,000,000 14! 10,000
405 XHoHF S HI 3,200 0 3,200
01 AL EZFH S 3,200 0 3,200
Od&a & POA DD 7¢ 1,600,000& »2CH 3,200
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SA: ABIAZAIYA

HE: oD WRE 44T BI(BALS/YGEE - 2F)

ol NBASE 2 (ASTAIY) CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ANgat+E 23 528,903 434,162 94,741

201 LBH2d| 313,503 249,122 64,381
01 At 2t 2l 17,650 12,880 4,770
OFFHMEN(=AA) 20,0003 *20H 2 43 160
OB4+ZILN HELE 2Y
15,000 20 A 7 & *53] 1,050
OM4ZAL EANN HEDS 242
100,000& 9H 900
OMAES g EE2 HME (82 2 45)
1,000,000& *5& 5,000
OHAEH HMAE(LHX 2 78)
1,000 *25& 8 & 53] 1,000
ozZges 2Y 100,000 & x9H 2 & +23] 3,600
OotE3, et 2 el 60,0003 x9H *x2E +23] 2,160
OS2 SHI(JI2, &, 225+
S AH) 7,000 «9H 602 3,780
02 2324l 295,853 236,242 59,611
OX&H =l 8,667
—28sxt 1,685& %2,3504 »2CH 7,920
— Ol E Xt =t 1,867& %400£ 10K 747
OXt& ==&l 300,000& »2CH 53] 3,000
OXt&&E Il dAtdI 50,0003 *2CH*12] 100
OXed=EE= 400,000& *2CH *23] 1,600
OXtS XHAl 500,000 *2CH * 13 1,000
OdMERE =S 41,5003 +2CH 23] 166
o332 & HA 281,160
—XNegad-E A8 HIIR3
20,000,000& x12& 240,000
— 7Y HE KA dJIes
5,000 250 &« 128 1,500
—Jtsitdl 28 &dIIes
60,0003 250 & x2& 3,000
—RAYgs =42 30,0003 20 & x12& 720
~ToBE U SYH SUAER
50,0003 *25J4 A x 122 15,000
— &% SHUAN FE3H AERZ
70,0003 *2404 A 128 20,160
— S NGt (M%)
780,000& x 13l 780
O A A JFAALD HHA MASH
80,0003 *20H A 160
202 O4dl 10,400 8,040 2,360
1T =2HA b 10,400 8,040 2,360
O+RBEA U 4T 22l
20,0003 «4H «90 7,200
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o 9D WRE 445 BS(BYRS/YGEE - +H)
SR NYNLE SY(MLTAY)

SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
Oa+d 2gel 938 ¢ L3
200,0002! *42 *43] 3,200
206 T 2 b 3,000 3,000 0
EEL 3,000 3,000 0
SZED HHIY (A2 143)
10,0002 #1535 23] 3,000
301 et &2 2,000 2,000 0
1JIE2a2 2,000 2,000 0
OfF#dD ZA3 20,0008 ¥10024 2,000
401 A& HI L 2Ol 200,000 172,000 28,000
01 Al H 200,000 172,000 28,000
O&FZAIE 23 MY 200,000,008 *14! 200,000
MAE ANENY ¥ SAS(MPZAY) 327,328 326,928 400
2RAL e 325,728 325,728 0
401 Al HI YL 2 Tl 325,728 325,728 0
01 Al 324,000 324,000 0
CaP AZELBA
1,000,000 x207H 4 * 122 240,000
OL=AZIl nAl 120,000 *700H 84,000
03 A€ 2 bl 1,728 1,728 0
O+ AZ24TA 240,000,000 %0.72% 1,728
BUYNLT BOAIE BAAY(SEIH) 1,600 1,200 400
201 YEtS | 1,600 1,200 400
01 AtR 22l 1,600 1,200 400
OFaZa I= 200,000 %4 +23] 1,600
Ofl I HI (&4 = AFRY) 56,299 63, 180 16,881
Ol I U (& & EAFY) 56,299 63, 180 16,881
801 0t bl 55,299 63, 180 A7,881
01 ekof bl 55,299 63,180 A7,881
OobIHI (&> =SE3 A ) 55,299,0008! 55,299
802 BH& 2| E 1,000 0 1,000
T 1,000 0 1,000
ONEzE23 8323 S 10,0002 *103] 1,000
WRES (Mo EALL)(HYRS/MGHE - +8) 409,535 398,989 10,546
HEHNX S (ML SAY) (HEEASY) 409,535 398,989 10,546
G EIFSE= 409,535 398,989 10,546
701 JIEHS SN ES 409,535 398,989 10,546
01 JIESI HEES 409,535 398,989 10,546
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